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Topic:- Grad_Nutrition and Health

1) Water soluble vitamin is?/¥d # gem=ita faerfiq 82
1. Vitamin - C/faetff= - C
2. Vitamin - D/fdeTf#= - D
3. Vitamin - A/fdTidA - A
4. Vitamin - E/fdeTfi -

m

Correct Answer :-

e Vitamin - C/fdei®= - C

2) Which facilities are provided through anganwadi centers?/ G{TlFﬁ'lfr Pl & HremH q B {
gfaer & ot 82

1. Health checkup / R ST

2. Primary vaccination / Urdfiie SlepTahrur
3. Supplementary Food / YR TIN0T 38R
4. All of these/ SURIeT THT

Correct Answer :-

e All of these/ IURNad g+

3) Hepatitis disease affects which part of human beings:/%'ﬂ?l?{ﬁﬂﬁ'ﬂ HI & ﬁﬂ'{ 3T B
&rfaured v &:

1. Liver/a&d
2. Lungs/ﬁ'ﬂb%
3. Kidney/qa
4. Heart/gad



Correct Answer :-

o Liver/depd

4) Proteinisnotfound __ :/ mé=
1. In Blood/3& H

2.In Lymph/aﬁlﬁff

3. In protoplasm/®IReT G H

4. In Bilejuice/fURa o

Correct Answer :-

« In Bilejuice/l0RY o

5) Which harmone is responsible for changes in breasts during pregnancy?/ TUfaRT & IRE
1 § uf¥ad= & o) S |1 g Suerd 82

1. Godedotropin/? IS c Tt
2. Progesterone[Cﬁ@E‘H
3. Overian/ﬁéﬁ'q:r

4. None of these/ s:l'ﬁ[ I ﬁé gl
Correct Answer :-

« Progesterone/HIoIRe™

6) Which of the following vaccines is given to pregnant women?/fAa & q o1 A A= 1fad
Aigar &1 § o1t 82

1. 0.p.v./3i .4t
2. D.P.T./SL.T1.&.
3. Tetanus/ﬁ%tm

4. None of these / sqfr J ﬁ"iﬁ EEl

Correct Answer :-

e Tetanus/feeTg

7) Vitamin known as 'Tecopherol’ is: [V ADIHRTT F ATH | FHT 9F ara faerfie 8:
1. Vitamin - E/fdeifi= - E
2. Vitamin - D/fdeTf®= - D
3. Vitamin - C/fdeTi@A - C



4. Vitamin - A /[deTfi= - A
Correct Answer :-

« Vitamin - E/f[defd= - E

8) Objective of 'Bal shakti yojna' is:/ URNAR HeTor PHTAHH BT q81 3%381 %:
1. Promote sports/@?lﬁ Cal deldl o

2. Population control/STEREAT Fa=0T

3. First Aid/UTdfie SU=R

4, Severe Malnutrition Control/"'fﬂ-ﬁ'\y W R g0

Correct Answer :-

« Severe Malnutrition Control/THR $UINUr GR FHI=om

9) The weight of the woman increases, during pregnancy is-/l];Uf THfqRT & SR Afgen & au A

i et &:

1. 25 Kg/25 T
2. 20 Kg /20 foar
3. 12 Kg /12 o

4. 18 Kg/18 fbur

Correct Answer :-

« 12Kg /12 fooom

10) Girls require iron in Adolescence: -/ fHFRTaRT # FTferPTSH B TR P TIRYHT Bl 8:
1. 40 - 45 Mg. Per day/ 40 - 45 Mg. Ufdfa
2. 28 - 30 Mg. Per day/28 - 30 Mg. Ufdfa
3. 10 - 15 Mg. Per day/10 - 15 Mg. Ufdfa

4, 50 - 55 Mg. Per day /50 - 55 Mg. Ufdfa=

Correct Answer :-

« 28 - 30 Mg. Per day/28 - 30 Mg. ufafe=

11) The National Blindness control program was launched in M.P. in collaboration with: /H.U. |

P =f¥EA i sriww fead deanT § gam T &
1. World Bank/f[d% S

2. WHO/fdy @reg dme+



3. Central /W
4. None of these / szl'ﬁf T ﬁ'{f :lfﬁ

Correct Answer :-

e World Bank/ﬁ%%

12) The main reason of malnutrition in India is-/ YRd d ?Cﬁ'lTUT DT BT SR -
1. Population Growth/S=Ee gl

2. llliteracy/ 33T

3. Poverty/TIﬁTSﬂ

4. All of these/IURIG FHT

Correct Answer :-

« All of these/IURIad I

13) Who discovered the vaccine of Chicken pox?/3J9® & & & Wiel fraa &t Az
1. Robert coach / &8¢ &g

2. Phenet / fAd

3. Makluan / BgeH
4, Edavard Jenar / QEEI_SC SR

Correct Answer :-

o Edavard Jenar / QST:I@: SR

14) What is the full form of AIDS?/ (AIDS) T YT ATH %:

1. Acquired immune deficiency syndrome/QW’ff sﬂfﬁ SthRE= ﬁl@ﬂ
2. Acquired immune disease symptomsfqav‘rtlsc SR f&oisr e

3. Auto immune deficiency syndrome/Gﬂﬁ SHA Wﬁ@ﬁ

4. Anti-immune deficiency syndrome/TUct SHA Sih R ﬁlf_@ﬂ

Correct Answer :-

« Acquired immune deficiency syndrome/T&TIe SR SR RigH

15) People living in cold climatic states require energy: / dst SIedrg T wexm o ¥eH
T AR A St P STITGDBT B B
1. More/3ff8&®

2. Less/dH



3. Normal/dHg

4. None of these/ sﬂﬁ I ﬁ'&f T8l

Correct Answer :-

« More/3fd&

16) Iodine deficiency disease in children is:léﬂ'!ﬂﬁ:r P HU A ITADT A g A INT %
1. Scurvy/&pdf

2. Cratinism/3{& 31 3IER

3. Pallagra/UaRn

4. Beri-Beri/sRIsRl

Correct Answer :-
« Cratinism/3{g 319 3IER

17) The polio virus affects the child's system most-/ WA &7 aRRY 7= & fH7 &7 F Faifte
wHIfad BT 2-

1. The nervous system/dRdT o
2. Digestive system/Ura- o
3. Respiratory System/43 d3

4. Circulatory system/dqRag= o=

Correct Answer :-

« The nervous system/dfAd1 dd

18) The rates of BMI in women compared to men is: / Afgaaii 1 AU TATITT BT 3 U1 Bt
GGG s

1. Is more/3f& it 3

2. Is less/H Eﬁ?ﬁ%

3. Equals/SRTeR §IciT g

4. None of these/ 378 J ®Is Tal

Correct Answer :-

« Is more/3if® BT &

19) For confirmation of pregnancy is checked. / TUTawyT ®t g 3q P Sig
P W 7

1. Urine/T3 &1



2. Blood/3ad &t
3. Saliva/dR &1
4. None of these/ sﬂﬁ I ﬁé T8l

Correct Answer :-

e Urine/9A CAl

20) Complete pregnancy period is-/ Juf TUfawyT Ft 3raftr gt &:
1. 295 Days/295 fa
2. 280 Days/280 fa=1
3. 288 Days/288 fa=1

4. 290 Days/290 f&71

Correct Answer :-

« 280 Days/280 faA

21) Pregnant woman should have good for full development of the fetus./ TS fQI’E{[ tg
guf faeTa & ford fadht it &1 HieH g =

1. High protein rich/3@ Ui gad

2. High calcium rich/3= &R gad
3. Both of the above/ IURIGd gl
4. None of these /SWRiad H T BIs T8l

Correct Answer :-

« Both of the above/ SWRIad gHI

22) How many gram of cereals is required for a simple working pregnant woman?/Td dTYRRUT

frarsita mfad o #Y fram a9 oFTe Y smazawar wfafe S @
1. 400 gram/400 UTH
2. 800 gram/800 UTH
3. 600 gram/600 U™

4. 700 gram/700 I1H

Correct Answer :-

» 400 gram/400 9H

23) The cause of Tetanus disease is-/ a9 I F1 PR B-



1. Diphtheria baciIIi/%q?ﬂﬁqT@@ﬂEf
2. Vibrio Canrie/ﬁ@Tﬁ AR

3. Chostridium tetani/dARC ST ce-T
4. None of these/%tlff T ﬁ?f T8l

Correct Answer :-

« Chostridium tetani/deIReIfsTY <el

24) is the international unit of measuring Energy. / $ulf #T0R 1 J@RIPIT §HT5 g
1. Calorie /ﬁﬂ

2. Jule/SJet

3. Watt/dIc
4. Kilowatt/faare

Correct Answer :-

25) To perfect against perniuous Anaemia, which food is necessary to take in pregnancy:/

iR QT-ﬂﬁRIIT (Pernicious Anaemia) LEEIC] %ﬁ TYfaRIT & HieH # 1 ARy S %:
1. Vitamin - B12/fde1@ - B12

2. Vitamin - D /fdeTf@H - D

3. Vitamin - K/fdeTf# - K

4. None of these/ 378 q ®Is Tal

Correct Answer :-

« Vitamin - B12/fd2T#H - B12

26) What pregnant woman should take to fulfill calcium requirement?/ THacl Afer &) HfRmw
Pt ATIRGHAl Bt Yfd 7 T AT I1RT?

1. Milk and milk products/g¥ T g4 ¥ &= Terf
2. Cabbage/darmit

3. Egg/3fST

4. All of these/ITRId Tt

Correct Answer :-

o All of these/SWRIad Tt



27) Which part of the body is affected by Jaundice?/ ST 49s & IR & 6 371 Ht guIfaa
w1 82

1. Liver/dod
2. Kidneysflﬁ
3. Heart/gad
4, Brain/Hf&Tss

Correct Answer :-

o Liver/ded

28) National Filaria Elimination program is launched in:/?Tg’l'lT TFIEﬁﬁ'QT A PHTIHH H URY
forar T At

1. 1963
2. 1958
3. 1962

4. 1955

Correct Answer :-

e 1955

29) The main objective of family welfare is: /AR HedT0r PHTAHH BT qq 3%"\'!1 f
1. Rural health service/‘IIIﬁUT WY JqdT

2. Population control/STEReAT FHa=0T

3. Increase in Income/3d ¥ gia

4. None of these/ 378 J ®Is Tal

Correct Answer :-

« Population control/SFRRAT AT

30) Meaning of malnutrition is -/ FAYT HT 3 grar 8-
1. Over nutrition/31fc TYSOT

2. Under nutrition/3fcd oy

3. Both of the above/JUWRIad GHI

4. None of these/ TTH I ®1s ol

Correct Answer :-

« Both of the above/IURIad GIHl



31) The power of fighting the diseases in the body is called: JRRR AWM A ?IS‘;T P xfed & Fed
&

1. Immunity power/RT UfRIYE &
2. Disinfection/f: FeHUT

3. Both of the above/maﬁ Ml

4. None of these/ 3:1'3{ I ﬁ% T&ﬁ

Correct Answer :-

e Immunity power/ﬂ‘T UicRTe® &l

32) When does the child get measles vaccine?/Hioied &1 &1 aTa® Pl H T %?
1. In 5 Month/5 HTg
2. In 3 Month/3 A18 |
3. In 9 Month/9 HIg 2|

4. In 4 Month/4 AT §

Correct Answer :-

« In9 Month/9 AT§ §

33) In which year the Government of India initiated programs at the National level to remove

blindness?/ 3T P G HI og HRA WPR A AP TR W S forg af yRH fpar?
1.1970
2. 1985
3. 1990

4. 1975

Correct Answer :-

» 1970

34) The age of 0 to 1 year is called: /S q AHT TH qY dF B AT FT HadTd! &
1. Childhood/sTcaTdRT

2. Infancy/ﬁ?]?ﬂa@ﬂ

3. Adolescence/fHRIRTaRIT

4. None of these/ 378 q ®Is Tal

Correct Answer :-



« Infancy/RRIGTERIT

35) Mid-day meal program was started by the Indian Government in the year:/ ¥pd TR
YIS HTRIHH BT AT YR IRBR GRT GER KGR e

1. 1961
2. 1999
3. 1990

4. 1992

Correct Answer :-

e 1961

36) According to ICMR, how much extra energy is required for women during pregnancy: /ICMR

F AR THfaRT F PR Afgensit #) e sfafiad ol F smawawdar gt 8:
1. 300 Calories per day/300 HaRI Hfafe

2. 800 Calories per day/800 @RI Ufdfe

3. 1000 Calories per day/1000 @R} ufafe

4. 600 Calories per day/600 HaRI Ufdfe

Correct Answer :-

« 300 Calories per day/300 HaR! ufafe

37) Micro nutrients is: /HT3®! YT (Y& TUF d9) &
1. Potassium/dicRaH

2. Phosphorus[fb"lmﬂw

3. Calciumlm

4. Tron/3ITRA (8T

Correct Answer :-

o TIron/3RRA (Fﬁ'eﬂ)

38) Which disease has not yet been vaccinated?/ g Furst &1 der enht 9 T8 a1 %?
1. Aids/usd

2. Tetanus/ﬁ%tm

3. Diptheriaf%fﬂﬁﬂm

4. Hooping-cough/aTel Wit



Correct Answer :-

e Aids/Usd

39) ‘Tuberculin’ is effective from which disease:/ ‘Wﬁ' 5 T ¥ gurae Y @
1. Leprosy/P¥ AT

2. Dengue/@f’l

3. Tuberculosis/ﬁa%

4. Polio/Tferar

Correct Answer :-

. Tuberculosisﬁlﬁﬁa?

40) The diet for 0 to 4 month baby's should be -/ | TR HIg dF & T $1 &I 3ER AT ATRT:
1. Solid food/31 3TER

2. Semi solid food/3< 31 3MER

3. Supplements/qR& AR

4. Mother milk/HT &1 Y

Correct Answer :-

« Mother milk/HT &1 Y

41) Prevention of T.B. can be prevented by-/ .. Y e AFUr o o1 IHat %—
1. B.C.G. vaccine/ . 91.5f. 9=

2. M.T.D/TH.SL.&

3. DOTS/SICH

4. None of these/3TH ¥ ®Is -Tal

Correct Answer :-

« B.C.G. vaccine/ at.3t.5f. 9=

42) In which year Kindergarten Nutrition Program was started by the social welfare

department?/STAATSt WYV HRIHH B IREHTT THTS HAT0T fAUTT gRT fha af ot 71 02
1. 1998
2. 1988
3. 1977

4. 1970



Correct Answer :-

e 1970

43) Polio is called in the language of medical science as:/ qiferat & ffere ICEIEKARTILI o T
FgT oIl 8:

1. Polio Myelitis/diferaT Araferfe s
2. Polio Canreg/diferar ®avsl
3. Polio Scholar/@ferdl WHeR

4. Polio Sputum/Tiferdl TRH

Correct Answer :-

« Polio Myelitis/aifera A

44) Which part of the body is affected most in Typhoid?/ STIBTIIS H TR &1 S A1 [T Jaifee

gHTfad grar 82
1. Lungs/ aﬁﬂ%
2. Heart/ €ad

3. Liver/ g&d
4, Intestines/ 3iid

Correct Answer :-

o Liver/ dd

45) The vaccine of B.C.G. used to protect against which disease-/ .35 &1 St fFa AT |
a9 & fore @ S -

1. Cancer/W
2. Cholera/gsTl
3. Polio/diferal
4. Tuberculosis/&TRIT (qUlC®)

Correct Answer :-

« Tuberculosis/&aRT (ﬁﬁ%)

46) When body temperature increases, metabolic rate:/ TRR P dAIThH (TER) aaer IR I9TI9g
Calees

1. Increases/dcal &
2. Decreases/9cdl §



3. No Change/"ﬁi gRad gl
4. Ever decreasing ever increasing/$ﬂ-ﬁ et %’, FH EIE‘cﬂ %

Correct Answer :-

« Increases/dgdl g

47) Which vaccine is given to the child at age of two and a half month?/ az% H1E Bt 31g s i ﬁrg Cal
DI T EPHT AT Il 82

1. Second vaccine of D.P.T./SFT.Eﬁ.EcT. 1 fgdia dar
2. First vaccine of D.P.T./S.1.2. &1 uyH dipr

3. Vaccine of Measle/dR] Bl GiGa
4. None of these/ s:n?r I ﬁ'&f T8l

Correct Answer :-

« Second vaccine of D.P.T./31.41.E. &1 fgdia b1

48) What age measles disease affects more? /@RI A7 {5 3y aif &1 walfe yurfaa wwar 82
1. 6 month to 3 years/ 6 g §3 a9

2.0to 6 month/0ﬁ6tﬂg

3.0to5years /0§ 5 a8

4. 6 month to 1 years /6 A8 ¥ 1 a¥

Correct Answer :-

e 6 month to 3 years/ 6HE Y 3 G

49) What nutrients excess should be in the lactating mother's diet?/ Y= ATaT & i A S A
Uiy dcd 31 Siftrear gi-t Tifge?

1. CaIcium/%%{rCI'q

2. Protein/Eﬁ‘cpH

3. Both of the above/ JURIad &I
4. None of these/37TH ¥ ®Is -Tal

Correct Answer :-

« Both of the above/ SWRIad gHI

50) Vitamin A supplements are given to the child for:/STA®! &1 fdeTfeq ‘@ &1 GRTh 3 oIl B-
1. For the protection of eyes./ 3@l @& YR&T & e



2. For Growth and Development / ?{@ faem & ferr
3. For the strength of bones/ 3@???[ Eal HTrIT{cﬂ & for
4. None of these / szl'ﬁf I ﬁ?f T8l

Correct Answer :-

« For the protection of eyes./ 3@l &1 Y& & ford

51) Protein originates from the word proteus is word of language:/ WEF &t Iaf
WS (Proteos) Xeg A gt 31 Mdtemy YTYT T VS 3:

1. French/ﬁv_t[

2. Greek/T/ﬂ$
3. English/33sft
4. Japani/SITamT

Correct Answer :-

 Greek/Il®

52) is beneficial to the ICDS-/ TAfPd 91e faere ufaismT (1CDs) & fRaumdt @
1. Pregnant mother/m-fa_cﬁ ARt

2. Lactating Mothers/&TT AT

3. Pre-School Student/¥h d Uﬁ EJE]

4. All of the above/ItRIad It

Correct Answer :-

« All of the above/SWRIgd HT

53) When a person's activity increases. The quantity of protein will:/ fF<f} safaad &1 frar=fiaar
e W Ui 31 uE:

1. Increases/aﬁfﬁ %
2. Decreases/dgcdl %
3. Remains Constant/fRR g4t §
4. None of these/ 378 q ®Is Tal

Correct Answer :-

« Remains Constant/fRR T8 &

54) The first phase of the pulse polio campaign was started in:/ U&q Qiferal AT &1 YUYW TROT
B YRY g3 UT:



1. May 1994/75 1994
2. May 1996/H% 1996
3. December 1994/f¢HaR 1994

4. December 1995/fGTaR 1995

Correct Answer :-

« December 1995//GTsR 1995

55) Applied Nutrition program was started in which state first? / AgIR® WYTER HTUHH
(Applied) 3 =TT TAuH fore T | gl

1. OrissaREﬂ?lT

2. Uttar Pradesh/3JTR Ul

3. Bihar/fogR

4. Madhya Pradesh/H&d UeT

Correct Answer :-

. Orissa/Gé 83

Topic:- Grad_General Knowledge and Logical Ability

1) A student’s marks were wrongly entered as 93 instead of 39. Due to that,
the average marks for the class got increased by 1. Find the nhumber of
students in the class./ T& BT $T 3 Tadl & 39 & g¢d 93 3ifPHd 8l 1T, o9 aoig
T U F&T BT 3RIT 3P 1 | ¢ AT HET | ST B T 7d De |

1. 27
2. 26
3.45

4. 54

Correct Answer :-

2) How many squares are there in the given figure? / EﬂTlg sw%ﬁ I B F=T
forast g2




2.12
3.10

4. 8

Correct Answer :-

3) What was “AttaVista” / “&@TﬁRT” T
1. E-mail/ 'sf-flﬁ

2. Virus/ a1y

3. Hardware/ E]éa'tl?

4. Search Engine/ I oI

Correct Answer :-
. Search Engine/ Id 35

4) Excessive consumption of ethanol causes damage to the:/ Q?-I'Fﬁﬁ P 3fY® Ja fHa 3 B
W HdT &

1. Kidneys/ dd
2. Lungs / fW%
3. Heart/ gad
4. Liver/ b d

Correct Answer :-

e Liver/ Ydbhd

5) In MS-Access to open new database used:/MS-Access H 41 31T 99 Ead

¥ fore Iy g §:
1. CTRL+N
2. CTRL+O

3. ALT+F4

4. None of these/é‘lﬁ I ﬁ'sc 3@'

Correct Answer :-

« CTRL+N



6) In a certain code language if ‘Rose’ is called ‘Sun-Flower',’ Sun-Flower’' is
called ‘Sakura’, ‘Sakura’ is called ‘Peony’, ‘Peony’ is called ‘Lotus’ and ‘Lotus
is called ‘Marigold’, then which will be national flower of India?/ tlﬁ"{]?lﬁ’ G|

YR, FET A4l 8, "GRG B PR’ HT ATl 8, TP’ P U3, FeT a1 8,
‘U3’ B ‘HHA’ HT ATdT 8 3R ‘HUS’ B A’ HgT ATdT @ ol HIRd PT IS I6T i I
a2

1. Sakura/dHT

2. Peony/ﬁ3ﬁ=ﬁ

3. Marigold/ﬂ'ET

1 4

4. Lotus/HA

Correct Answer :-

« Marigold/ial

7) Which of the answer figures is exactly the mirror image of the given

figure when the mirror is held at PQ? / ﬁqﬁﬁﬁ'—wﬁwan?ﬁraﬂﬂ’rwawﬁr
¥t gl giur yfafars gt o9 gdur & PQ WR ¥ T 82

Question Figure: /q9a JrRpfA:
P

D,
Answer Figures: / ez HTepferar ;

D | D DD

A B c D

1L.A
2.B
3.C

4.D

Correct Answer :-

e A

8) Which of the following diagram shows the students who learn Law and
Music, Music and Dance and who learn Law, Music and Dance?/T-ﬁ%rﬁ'ETlt{
Y@rtEl § e-a1 yarteE 0 faenfia it gxifar @ o w1 ok Wit e &, wifta ok
T diEd § ok it e, Wita ok T fi=i Wrad §2



Correct Answer :-

9) Since which year has the Sarva Shiksha Abhiyan been operational? / ¥
foreT i F9e a9 & Fraieataa g2

1. 2000-01
2.2001-02
3.2002-03

4. 2003-04

Correct Answer :-

- 2000-01

10) DIRECTIONS: Select the answer figure in which the question figure is

embedded./ fA3%1: 98 IW e F1d SR orad wy anpfa AT 21
Question Figure / 1U9a 3Ibfa

Answer Figures / 3caz 3T aar

%

W 7] (<] 5]

1.A
2.B

3.C



4.D

Correct Answer :-

« C

11) To see the effect of Motion Path with the Custom Animation Task Pane

you must /HEH TAATE P U9 A HINF U9 &1 Shae ¢l & fog 3!
BT I

1. Click the Show Effect button/ T Sthac §cd &I faad

2. Double click on Motion Path/ HIRF U1y &I Sd faad
3. Click Play Button/ Wi ¢ &1 faa®
4. None of these/ sﬂﬁ J aﬂs‘ﬂﬁ

Correct Answer :-

« Click the Show Effect button/ Tl 3thde s &I faa®

12) At least how many persons belonging to the Scheduled Castes and
Scheduled Tribes must be members of the National Commission for Women?

/ TE AIRAT AT & d5€dt #§ 9 ¥ FF fhae e sqgiea STt AT gy a S | ge e
g AT(R?

1.1

2.2
3.3

4.4

Correct Answer :-

13) If the simple interest on a sum at 5% per annum for 3 years is Rs.1,200.
Find the compound interest on the same sum for the same time and at the
same rate of interest./ af¢ 5% ¥ =To B g3 & fHel gau= &1 3 a¢ A Ty
TS ¥ 1,200 8, Y FHTH AU W T 4TS @ &% S JHTH 99 & e whgfe s
P AT HIfFY

1.Rs.1,361/%. 1,361
2. Rs.1,240/F. 1,240
3.Rs.1,261/%. 1,261

4. Rs.1,440/%. 1,440



Correct Answer :-

« Rs.1,261/3%. 1,261

14) A protein hormone is-/ Th 'l;h_a_"l' F\ILFI.'T_"T %—
1. Epinephrine/@ﬁtb—lg:f

2. Androgen/ Q'U@ﬁ:f

3. Progesterone/ TR

4. THS/ UTSRICU®

Correct Answer :-

. THS/ U UH

15) DIRECTIONS: Choose the missing terms out of the given alternatives./
frd=m: fou e faoedl & @ qw uel &1 719 B9 |

d n_ _  nndm_n

1. ndmnm

2. mdnmn

3. mndmn

4. dmnnm

Correct Answer :-
« mndmn

16) The Right to Property is a Constitutional Right under the Article - / =9
AToRR & ST G HT ATARIC TH GAETIAH ATAH §2

1.295 A
2.298 A
3.300 A

4.302 A

Correct Answer :-

« 300 A

17) Who was the Chairman of the first National Commission for Scheduled

Tribes? / TETH AT TS ATFWT o AL HIT 472



1. Kunwar Singh / Fa< fig
2. Lama Lobjang / AT &TasiT

3. Prem Bai Mandvi / 99 9T |4l
4. Tapir Gao / ardi¥ arrsiw

Correct Answer :-

« Kunwar Singh / Faz &g

18) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question?/ = Fafafed vy o vyares e ) & =
TR AT B AT /I T2

/5456 ,, V2120 . +460 _ 2

1.110
2.130
3.159

4. 190

Correct Answer :-
« 159

19) Two numbers are in ratio of 4:5 respectively. If each number is reduced
by 25, then the ratio becomes 3:4. Find the largest number./ a T=ned &1
SUTd UM 4:5 81 9fe TP T= H F 25 "eTd § df 3IguTd 3:4 & Sdl 8| eI I 91d
P

1. 100
2.125
3.130

4,135

Correct Answer :-

« 125

20) In which year was the Immoral Traffic (Prevention) Act passed? / sfas
AT (T srferfaam e o arfa frar a2

1. 1954

2. 1956



3. 1958
4. 1959

Correct Answer :-

« 1956

21) Lacteals are related with-/ dfdesred Trifid @?ﬁ %—
1. Secretion of Lactic acid/dfaeds 3 & TATATON

2. Secretion of milk/ g¥ CRTICIUE

3. Absorption of Lactose/qdeIST & GRNYOT J

4. Absorption of milk/gT SICRINIURS)

Correct Answer :-

« Absorption of milk/GTH S{JRNYU Y

22) By which year does the Swachh Swasth Sarvatra aim to make India Open
Defecation Free (ODF)? / =g Tae 94 JIST (AW & & HI9d 99 qF WILT &l G § &A1
Hh IATH T F&T T@T 57

1. 2019
2. 2020
3.2021

4, 2022

Correct Answer :-

« 2019

23) Which of the following had launched the Sanitary Marts Scheme? / a9
HTCH FISHT 7 A0 Fhae f6a1?

1. Ministry of Health and Family Welfare / TaTesa Ua 9T FedTor §31ad
2. Ministry of Social Justice & Empowerment / ST =T S AfermTar #amea

3. National Safai Karamcharis Finance & Development Corporation / Tgi HHTS FHATI
IENRERCEIGRTTIE]

4. Ministry of Urban Development / eTg<t faahme #emer

Correct Answer :-

« National Safai Karamcharis Finance & Development Corporation / TT81T §%Ts FHATL
IESRCRCEIGRETIE]



24) The universal energy carrier in living cells is: / Sifa® SIfeT # 43 Sl argd AT E:
1. ATP/ Qé'd'

2. RNA/3IRUEAUY
3. Oxygen/ N EREE]

4. Carbon dioxide/ BT STSIHZS

Correct Answer :-

. ATP/QélC“

25) When you insert an excel file into a word document, the data are:/ Sd

MY TS & A A T BIsa d STadgai a1 Bl
1. Hyperlinked/ BISURIdids

2. Placed in a word table/ T& Tleg dTfeidhl § X&T

3. Linked/ feids

4. Embedded/ TISS

Correct Answer :-

. Placed in a word table/ U& st dlfeid] H IG@T

26) When was the Swarnajayanti Gram Swarozgar Yojana started? / Tauisgdt
TTH TS FISTAT T SATEH HITH TG § a?

1. 1999
2. 2000
3.2001

4, 2002

Correct Answer :-

27) The Kayakalp Scheme relates to - / FETHeT TioAT W & F haw gafaa g2
1. Health insurance / == AT

2. Cleanliness / ¥a=gar

3. Vaccination / E&mazor

4. Health related research and development / TaTess F¥aeeft e T A



Correct Answer :-

« Cleanliness / ¥=gdr

28) How many Acts were amended at one go by the Criminal Law
(Amendment) Act, 2013? / Tt fafer (Ferre) srfafeaw, 2013 ¥ siavia TH gl I H
foraer srferfeae & "erres @ w=r?

1.3
2.4
3.5
4.6

Correct Answer :-
e 4

29) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question?/ fardar: frfafed uy § uyeras e ) &
R THIT DI AT | ST ?

15.5% of 850 + 24.8% of 650 =?
1. 293
2. 385
3.210

4. 375

Correct Answer :-
e 293

30) A is 30% more than B and B is 60% less than C. By what percentage is A
less than C?/A, B ¥ 30% 3@ g 3R B, C ¥ 60% A gl A,C 4 fpa-m ufea=a &40

8?2

1. 25%
2. 50%
3.30%

4. 48%

Correct Answer :-

e 48%



31) The disease caused due to the deficiency of Vitamin D in the diet is:/ 3TgIR H faerfiqa p &

FH A A arar A P F:
1. Scurvy / Thdf

2. Beriberi/ SR1 SRt

3. Rickets/ Rapcq

4. Night blindness/ 1 3{e/dl

Correct Answer :-

« Rickets/ ﬁaﬁﬁ

32) A student walks from his house at 5 km/hr and reaches his school 10
minute late. If his speed had been 6 km/hr he would have reached 15
minutes early. Then what is the distance of his school from his house?/ T&®

faremeff 3ram wR ¥ 5 forrfi/ae Y fa | =erar @ oY 10 firqe R | faemay ugaar 2] afe @
3T If 6 fopft/ae w~ o at 15 fiFie uga faemera ugaa 8, a9t 9% W A 39 faemaa &t
R F?

1.12.5 km/12.5 fodt
2. 25 km/25 fodt
3.37.5 km/37.5 fodt
4. 50 km/50 fordt

Correct Answer :-
e 12.5 km/12.5 fot

33) To which of the following is the Hindu Succession Act, 1956 applicable? /
g STt fafaaw, 1956 A & & fof sAedl IX AT graT 87

1. Jews / ST 9HTST & AT

2. Scheduled Tribe / ST AT
3. Buddhists / sigt

4. All of these / Ik T+t

Correct Answer :-

« Buddhists / =t

34) Which of the following is not a category of vulnerability among children
as described in the Juvenile Justice Act, 2015? / A5 ¥ & &t =t Soft, fFenz =T



Afeaaw, 2015 F ATATT TgT T AAAT § FIUT A1 AT TS 872
1. Children in need of care and protection / F@<@ 3T XA F TELq aTAht
2. Children in contact with law / fafer 3 Seqsl § Tg+ arer arerhi

3. Children in conflict with law / fafer 1 Ieerae 2= arer arerst

4. None of these / g7/ & #IE &l

Correct Answer :-

« Children in contact with law / fafer & seael § T arer ATl

35) Before the Protection of Children from Sexual Offences Bill, 2012, which
was the only state to have specific piece of child abuse legislation? / T==i &1

A sruret & "eeror srfafaae, 2012 % 9 FT9T THATT TS F I 97 gA g U U fafoee
fafer ar?

1. Goa/aT

2. Delhi/fee=T

3. Maharashtra/wgmreTy
4. Karnataka/® ie®

Correct Answer :-

« Goa/raT

36) The Sati (Prevention) Act, 1987 was a law enacted by the Government of
- / Tt (Treramw) srfafam, 1987 wfqa To & T g srfarfRatar foea s an?

1. Maharashtra / #g1g

2. Rajasthan / TrsteqTa

3. West Bengal / 9fsy awmer
4, Gujarat / [ a

Correct Answer :-

« Rajasthan / TS

37) Which of the following is used for modulation and demodulation? / fad

A B A1 ATge 3R SHTsgaT F fore IughT fovar sirar 82
1. Multiplexer / AR QIR

2. Modem/ HISH

3. Gateway / Tied



4, Printer/fliey

Correct Answer :-

« Modem/ ArsH

38) Prabir started walking towards South. He took a right turn after walking
10 m. He again took a left turn after walking 20 m. In which direction is he

facing now?/¥dR, Sf30T #t 3R TaT WRY HaT1 81 10 Hiex Te & 916 98 orff iR 4
SITdT 81 20 Hiex e & 916 98 UH: 91 3R 4 &rat 21 314 3T g oy fomm o1 v 32

1. South/gf&ror
2. North/3«R

3. West/UfgHq
4. East/‘{qc

Correct Answer :-

. South/<f&mor

39) If a book is sold at a profit of 10% instead of at a loss of 10%, then
seller gets Rs.80 more. The cost price of the book is: /Hﬁ{@gﬁ?ﬁ?ﬁ 10%

BT B 3UET 10% Y W 9T 91, 41 fashar & ud 80 31fU® UIw g17 | J&a® &1 Hd I
&

1. Rs.400/3.400
2. Rs.620/%.620
3. Rs.580/%. 580

4, Rs.420/¥. 420

Correct Answer :-
e Rs.400/3%.400

40) Which of the following option is not true about the Prevention of Women
from Domestic Violence Act, 2005? / =T @41 & wigar @ sitarfaaw, 2005 qvaweft
e & § *iar fosew 98t 981 87

1. “child” here refers to person below the age of 16 / =8 I =9 & “Tme®” FT AT § 16 a9
T FH IY FT AE

2. It extends to whole of India except Jammu & Kashmir / 7g sifafaas s+ T FediT
BIEHL ST AT | A6 &

3. Both of these / 3U<I=k 211
4. None of these / 4% & #IE gl



Correct Answer :-

« “child” here refers to person below the age of 16 / =& sifarf==w & “arets” 71 7F g 16 a9
q FH IH T ATh

41) Which of the following is true regarding the Sexual Harassment of
Women at Workplace (Prevention, Prohibition and Redressal) Act, 2013? /
HTGATSN T HTAETT UL A1k Icdte (Fareor, shaver six wiaar) sifafaaw, 2013 g faa g
HET faweT agt T8l 872

1. It is applicable to whole of India including Jammu and Kashmir / 7g stfarfe=m s =i
FOHIT ATgd T AT § AR &

2. It lay the rules for constituting the Internal Complaints Committee / 7g s forrraa
AT &7 T Fd F7 Faraar g

3. Both of these / IYZI<F AT
4. None of these / 4% & #E 7l

Correct Answer :-

« Both of these / 39<i=k 24T

42) DIRECTIONS: In question given below, there are two statements followed
by two conclusions humbered I and II. You have to take the given
statements to be true even if they seem to be at variance with the
commonly known facts and then decide which of the given conclusions
logically follows from the two given statements, disregarding commonly

known facts. /132 1K fau e u=za & & FY= 3R 39S 1€ &1 frepd 1 3w 11 R e &1
3! faU T S HUT & Fd AT @ YA 8§ 3 Fdyrd 9] 9 fi= ydid g gf 1 |+t
forsmpuf o1 ufen e au Fifere fp feu e foeeul & @ S -a1 freed fag e syt &1
THITG U F ARV Bl &, A8 FagTd 9 $o i 81

Statements: /HY:

All talented persons are trustworthy./?r'l-ﬁ ufaHT=ITet ?II'%[, ﬁ'@mﬁ%'l
Some trustworthy are musicians./$o fazaraur, Ffilaer g1
Conclusions: /fea:

I. All talented persons are musicians./ﬁ'l-ﬁ uferyT=Imen ?ﬂ'%f, WW?I

II. Some musicians are not talented persons./$® TMd®R, UfayTITe fe T8
gl

1. If only conclusion I follows /ﬂﬁ%ﬁﬁ'ﬁ?ﬁl &WW%

2. If only conclusion II foIIows/q%WﬁEh‘Ef II &WW%

3. If either conclusion I or II folIows/Uf?HT?ﬁﬁfEﬁﬁf 19111 WW%

4. If neither conclusion I nor II follows /af& = o fAswY 1 9 €} 11 IR0 &l §



Correct Answer :-

. If only conclusion II follows/df¢ %ad sy 11 TR BT §

43) Who will be the Chairman of the Board of Management of the National
Children’s Fund? / TS a7 1Y & TSLT IIS & AT HIT 7

1. Minister in - charge of Department of Women and Child Development / ®fgaT Ta aTe
IEEICRERILER IR e

2. Secretary, Department of Women & Child Development, Government of India / ==,
HqigeT Ua aret e feramr

3. Financial Advisor Department of Women and Child Development / fa<fir =gz,
HigaTel T oY a1 fawre

4. Director National Institute of Public Cooperation and Child Development / fR=erF, s
AN UF T (oo o TP Heam

Correct Answer :-

« Minister in - charge of Department of Women and Child Development / ®fg=T Ta ater
IEEICRECILE R IR R

44) When was the Rashtriya Swasthya Bima Yojana launched? / Tfg¥ wamesy
AT AISTAT T AEH F9 a9 § g o71?

1. 2005
2. 2006
3. 2007

4. 2008

Correct Answer :-

45) A and B can do a piece of work in 8 days, B and C can do the same work
in 12 days and A, B and C together complete the same work in 6 days. In
how many days can A and C together finish it?/ A 3R B foddl &7 &) 8 fa=i A +=
T&d g, B 3R C It 10 1 12 fai § w7 IFd 8 U1 A, B, 3R € i+ fraew St &m0 &)
6 o=l o &% & 8, a1 A 3R ¢ e fpam fe=t & St &0 &1 @1 o2 T@d 22

1.12 days/12 f&q
2.8 days/8 faa
3. 14 days/14 fa7

4.16 days/16 fea



Correct Answer :-

. 8days/8 faq

46) How many desirable components are recommended in the National

Rurban Mission? /T &+ e & siavtq fohaer aifera oe it fRrwrieer i w=hi?
1. 12
2.13
3.14

4. 15

Correct Answer :-

47) Amnion surrounds-/3¢d LG %—
1. Allantois/ ORTUISERT B

2. Chorion/ WIR[g Gl

3. Yolk sac/ Tid BRI I

4. Embryo/ YUl Cal

Correct Answer :-
e Embryo/ YUl Cal

48) Pointing towards Ansh, a man said, “His mother is the only daughter of
my father.” How is the.man, related to Ansh?/ 3 B aﬁ?smm WEI{, Udh
e wear § fop Sut 1l AR fuar &) veara Tt 817 98 SeH! o A fry yeR aweita
32

1. Daughter/Al

2. Sister/dg

3. Maternal uncle / HMHI
4. Wife/ueil

Correct Answer :-

« Maternal uncle / |ATHI

49) What is the basic service unit of cellular telephony? / IgeR calbil Bt

AT Jar 3H1E T 2



1. PLMN service area/ PLMN afdg ufan
2. Cell/ Td
3. Location area/ AHTH Qi?ql

4. MSC/VLR service area / MSC/VLR Ifdg ufean

Correct Answer :-

. Cell/ @

50) What is the smallest and biggest font size on the Formatting toolbar?/

BIATET gaaR # a4 Bt 3R Gad TS} Wi qIgel A1 82
1.8 and 68/ 8 3R 68
2.8 and 72 /8 3R 72
3.6 and 68 / 6 3R 68
4.6 and 72/ 6 3R 72

Correct Answer :-

« 8and 72 /8 3R 72

51) DIRECTIONS: Find out missing number from the figure given below./

foréer: - & wit sefar ® g e gra S

D 61 AR
I DACEAUE

1.-30

2.13
3.18

4. 30

Correct Answer :-

52) DIRECTIONS: Study the following pie chart carefully to answer the
question given below./ fe1: fFafafad urg aré &1 eamgd® sreaa= &< - few T uy
& IR difrg|

Abhijeet wants to start a small business and he is planning to raise funds
from different sources as shown in the following pie chart:/ &I'f\ﬂ-l\_rﬂ'ch@ET'ﬂT



AT IRE DT A18dT § SR 98 fafi=1 |idl I €9 Je™ &t a1 911 38T 8| 941 5 urg
aré | feam gan g1

Raised from

investors/fdwrs
& urea ofdr,
129000

aving/ddd,
76000

Borrowing from
friends/Qredll &
IUW, 22000

Bank Loan/iE
=or, 145000

What is the ratio between the amount of funds raised from the friends and
the total amount of funds raised?/ aﬁwﬁﬁwuﬁramﬁm TR BT HHT:

SUTd T 8?2
1.22:417
2.145:417
3.23:139

4.43:139

Correct Answer :-

o 22:417

53) Which of the following state is the only one to be excluded from the
Backward Region Grant Fund Programme? 3% & & &9971 sshatar a7 fseT &
ST e wrdww § A8t smar?

1. Delhi / fRe=tt
2. Goa / &t
3. Madhya Pradesh / @ega=er

4. Maharashtra / agaTy

Correct Answer :-

« Goa /mET

54) The vitamin that contains a metal ion is:/ ST faerfi= %ﬁmﬁ yrq S+ IufRd _Eﬁ_clT %
1. Vitamin A / fdeT®{T A

2. Vitamin B12/ ﬁ?r&l:[ B12



3. Vitamin B¢ ) faerfim Bg
4. Riboflavin / JSETGATIT

Correct Answer :-

L Vltamln Blz/ ﬁaﬁ:{ B12

55) Mammalian embryo is directly surrounded by:/ZdHTRY BT Yot W T g3l ?-

1. Allontoic cavitym el
2. Amniotic cavity/&m:ﬁ'm% el
3. Yolk Sac cavity/ AHAD RIG

4, None of these/ E:I'af I aﬂs‘ '_'lgjf

Correct Answer :-

e Amniotic cavity/GIT:IT'ﬂ'ChﬁE el

Topic:- Grad_Managerial Skill

1) is a socially defined position in a society./ Turet ® grArfore =Y A uRyifa uey
fufa 7Y Fgd g1
1. Role/ YffanT

2. Interaction/ 3f=fshar

3. Status/ eRET (Rcw)
4. None of the above/ SRIgd H I P18 gl

Correct Answer :-

« Status/ BRYTd (Rew)

2) The smallest social group is:/ JIA BT IS qqg %:
1. Family/ GRaR

2. Village/ Mg

3. Country/ o

4, State/ Y

Correct Answer :-

« Family/ GRAR



3) Which of the following teaching aid requires a story?/ 3‘—|1?r T fry Srearu= gerdar & i%nz HEMT
B TTTgHT Bl B2

1. Chart/ 9T¢
2. Puppet/ d3Ydat

3. Demonstration/ AT
4. Poster/ TR

Correct Answer :-

« Puppet/ H3Yddi!

4) A single printed sheet of paper which contains information is called:/ PTI | TP 3aelt H@'d
e, o SRl 8 3 FHgamt gl

1. News Story/ THER TG (g5 €R)

2. Leaflet/ SRd8R
3. Folder/ BIceR

4, All of the above/ wjaa vt

Correct Answer :-

o Leaflet/ RdAER

5) Quality of leader is:/ ﬁ?lT/ﬁ'q'aTﬁlf CaRINUE
1. Influence/ UHIG

2. Support/ TgaN

3. Guide/ HRTGRI BT

4. All of the above/ Iuad Tt

Correct Answer :-

« All of the above/ B'Cﬂjﬁﬁ Tt

6) Posterisaformof:/ X HITH FUEI
1. Visual aid/ T2 GgRI%h JUHRUI

2. Audio aid/ %57 T IUGRUT

3. Printed aid/ gfad Hgr—Ih-A

4. All of the above/ Judad it

Correct Answer :-

 Visual aid/ TRY g—Ph USR]



7) Which among the following is not a cause of growth for cities?lsﬂﬁﬁ H’ﬁT-l, A & Eﬁ Cal

PRI 51 82

1. Trade and commerce/oTUR Tq QN0

2. Industrialism/3SERTdTe

3. Development of transport[qﬁagzr CAREEAR]

4. Hygienic outlook of people/?"ﬂﬁf CARSERICIFRERECW

Correct Answer :-

« Hygienic outlook of people/TNTT &1 WS @G €D® 0T

8) Extension education is: /ﬁﬁ'l'\’ Rrem - %:
1. Formal education/GﬁtEIT% e

2. Informal education/\?-l'"ﬁtEITﬂE fRreq

3. Out-of-school education/ﬁ'ﬂm—@f—w fRreq

4. None of the above/maﬂ 7Y ﬁ?f T8l

Correct Answer :-

« Out-of-school education/[AETeTa-T-aT8R e

9) Which Five Year Plan increased the economical growth of the country?/mﬁﬂaﬁq qIoHT A
U F1 i i  Sgrat o1?

1. Fourth Five Year Plan/t t=rasfg gierr

2. Fifth Five Year Plan/Ui=d! TS IeT

3. Sixth Five Year Plan/@d! UIau{g aieT

4. Seventh Five Year Plan/3dd! TS e

Correct Answer :-

« Fourth Five Year Plan/af Ueasia g

10) Which of the following is not a feature of urban community?/ 38 | TT, G TG Bt
fa=Ywan 78 32

1. Face to face relationship/ SHA-TMHA BT Jra=]
2. Complex life/ Sfed Siad

3. Materialistic/ Hifdepdmarct

4, Glamorous life/ ECdE N CINIASICE

Correct Answer :-



» Face to face relationship/ -G BT T

11) Group discussion changes peoples behavior through:/ qg ==f F HIAw I A b
IER P ggadt gl

1. Teaching/ 3T

2. Fighting/ T&A-31TS+
3. Shouting/ farexT

4. Interacting/ 3f=afshar

Correct Answer :-

« Interacting/ 3r=fshar

12) Which one of the following is not a youth service scheme?/?ﬁ'ﬁ' elar U gdr Jar T Tal
?

1. TRYSEM
2. National service scheme/TSTd |aT ST
3. Nehru Yuvak Kendra/8% Jdeh b

4. ICDS

Correct Answer :-

« ICDS

13) Instructional aids are used by a teacher to:/ 3ATUF GRT ISP TEPH-TTHRET BT
IR ¥ fore fopar wiman 21

1. Glorify the class/ ®&fl &I Fraxdl U™ &
2. Attract the class/ H&T B BT B

3. Clarify the concept/ 3/GYRUI WY HA

4. Ensure discipline/ 3-IRIMEH gFAYd oA

Correct Answer :-

« Clarify the concept/ 3/dYRUI WF HIA

14) Effective programme requires:/ THIGRITeNl HTAHH & forg 3agP g gl
1. Planning/ e
2. Controlling/ Fgzmr

3. Evaluation/ Jcdich
4, All of the above/ wjaa vt



Correct Answer :-

« Al of the above/ Sudad Tt

15) All research must begin with: /0 AR BT RT™ & Y ﬁT-lT ilT%‘Q:
1. Hypothesis/qﬁWqﬂT

2. Result[CrF\fUﬂﬂ

3. Conclusion/ﬁﬁb'ﬁf

4, All of the above/B'CIﬁHH it

Correct Answer :-

« Hypothesis/GR& g

16) The information which the communicator gives to the audience is:/ FaR®dl Sdravf &1 Y
I AR B R

1. Action/ Tﬂﬁaﬁ

2. Message/ BSER

3. Behavior/ gdgR

4. None of the above/IWRiad & ¥ PIs ol

Correct Answer :-

« Message/ T

17) “Education is the manifestation of perfection already in man” was stated by:/ “Rre ngwﬁ'

Ted W faemr uyefar &1 yw e 27, a8  &gT ATl
1. M.K. Gandhi/ TH.%. Tl

2. R.N. Tagore/ 3R.EH. TR
3. Swami Vivekanand/ Wit fadsr<
4. Abraham Lincoln/ 37§T8H feidd

Correct Answer :-

e Swami Vivekanand/ Wt fdaeH<

18) “Creation of a sound mind in a sound body” is stated by:/ “WO® IR H W A9 $1 TTAT", T8
AFEE:

1. M. K. Gandhi/Tq.%. Tl
2.G. S. Thompson/Gﬁ.QH. Y

3. Aristotle/3R¥J



4. PIato[@?f

Correct Answer :-

¢ Aristotle/3R¥]

19) Communication is the artof:/ §aR @ FAT %I
1. Listening to other/ @ff DI ﬁﬂ%r

2. Speaking to a group of people/ Al & BEE Y 910 B

3. Interacting with people/ AT S Ty Sfehar B

4. Writing letters to people/ A P O fore

Correct Answer :-

 Interacting with people/ ST & I 3o ar HIA

20) Which one of the following will be categorized as an achieved status: /374 ¥ f&d T& ura
fRufa o1 goft & @1 s

1. Sex/ L

2. Age/ 3

3. Marital/ daTie® fRufa
4. Caste/ STfd

Correct Answer :-

« Marital/ darfes UG

21) Video conferencing is an example of:/ AfEa HIpIRAT T 3qIgrul %I
1. Folk media/ di qremH

2. Print media/ flle ATegH

3. Interactive media/ 3fdfshaTee (cXfaea) Aead

4. None of the above/ IWRIad H & P15 el

Correct Answer :-

« Interactive media/ 3fafdhardi® (exfaea) Aremy

22) Appreciation is a form of:/ SRTg-T
1. Development/ fa®™
2. Motivation/ URUT

3. Participation/ dgH fd



4. Cooperation/ Hﬁﬁﬁ?ﬂ

Correct Answer :-

» Motivation/ RO

23) Who is the chairman of Planning Commission of India?/ YR i maT &1 sremed P giar

&

1. Prime Minister of India/HRd & UYFHAI
2. President of India/HRd *® Tlgtﬁ?[

3. Home Minister/T[g EEl

4. Planning Commissioner/:ﬂﬁ ST

Correct Answer :-

« Prime Minister of India/HRd & GUHHAT

24) Who are the members of Planning Commission?/ifd 3MINT & TS B %'?
1. Prominent Public ﬁguresfgﬁi@ﬁ AUy e

2. Administrators/URIR—I

3. Technical Experts/ﬂﬁﬁ ICEWE]

4. All of the above/3Iudad Tt

Correct Answer :-

o All of the above/BtlgTﬁ et

25) What is the vehicle of Culture?/ TEHa BT a8 B 8?2
1. Technology/ Weifiast

2. Man/ H¥

3. Society/ JHNS

4. Language/ HIST

Correct Answer :-

» Language/ HTNT

26) Extension Education has it's roots in:/ fa¥aR Rren &1 9@ H el
1. India/ YRd

2. USA/ guU
3. UK/ fsea



4, Sri Lanka/ gtdT

Correct Answer :-

e UK/ foea

27) A fixed curriculum for teachingisin:/___ H srexmu @1 fArad ure=af gt %:
1. Non formal education/ﬁ?—GﬁﬂﬂW e

2. Formal education/Gﬁﬂ%ITW e

3. Adult education/daIh (Eﬁ'c;?) R]

4. Informal education/ 3= fRref

Correct Answer :-

« Formal education/3NU=R e

28) What is monitoring a group?/ 9¥g P fART 31 T @2

1. Designing of programme/ FHRIHH Sz BT

2. Implementing a programme/ HAHH HRT-ad BT
3. Controlling a group/ THg &I FIRAd BT
4. Helping a group/ THg &1 Hgrdl AT

Correct Answer :-

« Controlling a group/ IHg &1 AAfAd BT

29) Maximum participation of students during teaching is possible through:/ P IO 9,
AT & R faenfiat #Y siffieaw JgviRrar anE g1

1. Lecture method/ SR fafd

2. Textbook method/ UTGIYRA fafel

3. Demonstration method/ Ue=i fafdr

4. None of the above/ ITRIdd # ¥ Bls gl

Correct Answer :-

« Demonstration method/ TG fafey

30) Which Five Year Plan started from 1st April 1956?/1 3@ 1956 P ®I1-4 Ugadfa Ti=T
SR g3 A2

1. First Five Year Plan/Ugcll Ugas1d TrT
2. Second Five Year Plan/gast Gaayfg dreiT



3. Third Five Year Plan/dReRt taasfg gierTm
4. Fourth Five Year Plan/af tgaufg O

Correct Answer :-

« Second Five Year Plan/gux! Gaqui dreiT

31) Tape recorder is:/ Roprsr Uh %I
1. Electronic aid/ 3Ad¢ I Hg—IH-3TSHRUI

2. Printed aid/ gfad SerwH-Ara

3. Visual aid/ =T Al JUDRT

4. All of the above/ Judad Tt

Correct Answer :-

« Electronic aid/ $C1d§mq? delddh -G U]

32) Who is the Father of Sociology?/ JHISRIRA & S® BT A?
1. Comte/ IR

2. Durkheim/ g&H

3. Spencer/ TR

4. Cooley/ Feit

Correct Answer :-

« Comte/ B

33) Joseph Stalin implemented which Five Year Plan?/ SR Wi A -3 taaufa gieHr
HEifad 1 4

1. First Five Year Plan/Ugdll taasfa gieir
2. Second Five Year Plan/ga%! Gaayfg e
3. Third Five Year Plan/ceR) Gaasig aer
4. Fourth Five Year Plan/f tgraufa gerr

Correct Answer :-

« First Five Year Plan/Ugct UTaS g T

Topic:- Grad_RC_Managerial Skill

1)



DIRECTIONS: Read the passage and answer the questions that follow./ 3= Fufafed T &
AFYE® Tgas IuF 2 Rl T agfieed vt & w8 ey &1 9a7 3|

Our Prime Minister’s announcement declared a Rural Development Programme called PURA-
Providing Urban Amenities in Rural Areas. The programme involves identification of rural cluster
with growth potentials and creating four different types of connectivity-physical connectivity in
the form of Roads, transportation and power connectivity; electronic connectivity in the form of
reliable telecom internet and information technology services. Knowledge connectivity in the
form of good educational and training institutions and market connectivity that would enable
development of the nation, farmers and others to get the best price for their produce. Out of
6lakh villages in the country about 50,000 PURA complexes would emerge and this would enable
development of the nation through economic connectivity of the villages. Each university would
work towards this end in their region and come up with the model appropriate to the state. They
should consider the type of farming to be chosen in the area of cultivation, water management,
food production and marketing./

AR YT = T (PURA - WarsfET s efafAdter 571 wva uivarsr arfa amfor &= § wredt giaansit
3 yerahh) ATE T U fieTa i $t Tiven #Y 31 59 Srfwu # gf B qriraney ara undtor
&= 3 vga @1 gl 3R 37 IR A yeR &Y sAfeefad § srwf, 3 | - ast, uiasw we fagaa
FHfaefadl & U A Hifdw sAfdefad; fayiig SitwTa gev-e Td gaqr wnfiiet darei & U d

ﬁ%ﬁﬁlﬁﬁﬁﬁ@@&ﬂﬂﬁ%ﬂﬁmaﬁ%ﬁﬁ 3R IR FAfaefad,
vl 1y o1 fawre §R M, i T o AT 1 Ul U @1 Waiad Hed o1 4% & 6 W il &
¥ TIHT 50,000 TXT PTG SH S Wil $1 i HrAfaefadt & aRy Iy o1 e o311 &
fayfaemea srvA- amﬁaaﬁmmnﬁwmamﬂm%awmmmaﬁmm%w
F &7 6 g1 OM a1 HiY & UPR, S UG-, W SdTe Ud fauuH W faar s aifgul

Prime Minister announced development of:/ T4TH= A 390 A f5w &9 ¥ ey o1 9ivon Sz
1. Rural areas/‘/TﬂﬂUT &

2. Urban areas/l’l%ﬁ &

3. Tribal areas/\_rFIGﬂ'cﬂH 2P|

4. None of the above/SURII H I B a1

Correct Answer :-

« Rural areas/JTHIor &3

2) DIRECTIONS: Read the passage and answer the questions that follow./ f321: fRuferfaa e
P UFYED JegHT IT -4 33 T sgfawadt wxal & w8t fape &1 9971 $9|

Our Prime Minister's announcement declared a Rural Development Programme called PURA-
Providing Urban Amenities in Rural Areas. The programme involves identification of rural cluster
with growth potentials and creating four different types of connectivity-physical connectivity in
the form of Roads, transportation and power connectivity; electronic connectivity in the form of
reliable telecom internet and information technology services. Knowledge connectivity in the
form of good educational and training institutions and market connectivity that would enable
development of the nation, farmers and others to get the best price for their produce. Out of
6lakh villages in the country about 50,000 PURA complexes would emerge and this would enable
development of the nation through economic connectivity of the villages. Each university would
work towards this end in their region and come up with the model appropriate to the state. They
should consider the type of farming to be chosen in the area of cultivation, water management,
food production and marketing./



AR YT = T (PURA - WarsfET s efafAdter 571 wva uivars arf amdfor &= § et giaunsi
3t yeralY) ATHS TP U fIeTH STdwH Bt Tiven B 31 59 Sriwy # gf B qryrane ara urndtor
&= 3 vga @1 Il 3R 37 IR A Yo R @) sfeefad § wwf, 3 | - aswt, uivass we fagaa
FHfaefad! F U H Hifae sAfeefad; fyata Thterm sexate td gan e Jarei & wu o
gﬁaﬁﬁﬁaﬁ%ﬁala@ﬁf&m@uﬁr&mwﬁ%wﬁmaﬁw 3R IR FAfaefad,
vl 31y o1 fawre eR M, i T o AT 1 Ut SUS @1 waiad Hed e &1 & 6 W il A
| THIT 50,000 TXT IR S Sl ial o S HrAfaefadt F AR AP T fFHra H81 T
fayfaenea 3aA- W%ﬁw%ﬁﬂﬁnﬁm%mmmﬁuﬂmlﬁﬁ
F &7 ° g1 OF a1 Y & UPR, SId YU, W SdTe Ud faquH W faar s afgul

How many types of facilities were announced?/ fra UPR F1 {{ﬁenaﬁ P GIYUT BT T2

1. One/Uch
2. Two/@f
3. Three/?ﬂq

4, Four/dR

Correct Answer :-

e Four/dR

3) DIRECTIONS: Read the passage and answer the questions that follow./ f31: fRaferfaa e
P UFYED JgH? ITF -4 &3 T sgfawadt uxal & w8t fave &1 9971 33|

Our Prime Minister's announcement declared a Rural Development Programme called PURA-
Providing Urban Amenities in Rural Areas. The programme involves identification of rural cluster
with growth potentials and creating four different types of connectivity-physical connectivity in
the form of Roads, transportation and power connectivity; electronic connectivity in the form of
reliable telecom internet and information technology services. Knowledge connectivity in the
form of good educational and training institutions and market connectivity that would enable
development of the nation, farmers and others to get the best price for their produce. Out of
6lakh villages in the country about 50,000 PURA complexes would emerge and this would enable
development of the nation through economic connectivity of the villages. Each university would
work towards this end in their region and come up with the model appropriate to the state. They
should consider the type of farming to be chosen in the area of cultivation, water management,
food production and marketing./

AR UYTHA = [T (PURA - WaTsfET s gfafdter 571 wva uivars arf amdfor &= & et giaursit
3t yerailY) ATHS T U et STdw Bt Tivon B 31 59 Sriwy # gf B qrurane ara urndtor
&= 3 vga= &1 Il 3R 37 IR A yeR @) sfeefad § srwf, 3 | - aswt, uivasw we fagaa
FAfeefad F wu A Hifae sAfRAd; Ryaa Tdtem sexaie vd gaar wenfie) Jarsit & = o
gﬁaﬁﬁmaﬁ%ﬁala@ﬁf&m@uﬁr&mm%wﬁmaﬁw 3R IR FAfaefad,
vl g o1 fawre eRm, fari T o AT 1 Ut SUS BT warad Hed e ¢ & 6 @ il A
| TIHIT 50,000 TXT FIAATT S Sl Tal B S HrAfaefadt F AR Y 1 o $81 T
fayfaenea smaA- Hﬁmﬁwﬁmﬁwmaﬁ?mﬁ?mmmmmlﬁﬁ
F &7 ° g1 OF a1 Y & UPR, Sd Ya=U-, W SdTe Ud fauuH W faar s afgul

Physical connectivity is in the form of:/Hifd® FAfRfad fFad =u # grft?

1. Road/ds®
2. Transportation/aRdg-



3. Power connectivity/[dgad dAfaciac!
4, All of the above/B'CPE[HH Tt

Correct Answer :-

« All of the above/3udad Tt

4) DIRECTIONS: Read the passage and answer the questions that follow./ 3= Fufafed T
Pl ATYED YgHY 3UP - e T4 agfawed] ==l | uel fawey &1 994 B3|

Our Prime Minister’s announcement declared a Rural Development Programme called PURA-
Providing Urban Amenities in Rural Areas. The programme involves identification of rural cluster
with growth potentials and creating four different types of connectivity-physical connectivity in
the form of Roads, transportation and power connectivity; electronic connectivity in the form of
reliable telecom internet and information technology services. Knowledge connectivity in the
form of good educational and training institutions and market connectivity that would enable
development of the nation, farmers and others to get the best price for their produce. Out of
6lakh villages in the country about 50,000 PURA complexes would emerge and this would enable
development of the nation through economic connectivity of the villages. Each university would
work towards this end in their region and come up with the model appropriate to the state. They
should consider the type of farming to be chosen in the area of cultivation, water management,
food production and marketing./

AR YT = T (PURA - WarsfET srd= efafAdter 571 wva uivarsr arfa amfor &= § wedt giaansit
3t yeraihh) ATE T U et iy Bt Tiven B 31 59 Srfwu # gf B gryraney ara urndtor
&= 3 vga @1 gl 3R 37 IR A yeR &) sAfeefad § wwf, 3 § - aswt, uias wd fagaa
FHfaefad! F U A Hifae sAfeeiad; fyata Tdterm Sexaie td gan e Jarei & = o

ﬁ%ﬁﬁlﬁﬁﬁﬁ@ﬁt&ﬂﬂﬁ%ﬂﬁmaﬁ%ﬁﬁ 3R IR FAfaefad,
vl 31y o1 fawre eR M, el T o AT 1 Ul U @1 Waiad Hed e 4% & 6 W il A
¥ TIHT 50,000 TXT HIERIFH SHA S Wil o1 i HAfaefadt & wRg Iy o1 e o311 &
fayfaemea srvA- amﬁaaﬁmmnﬁwmsﬁ?mamwmmmmm%w
F &7 W g1 OF a1 FiY & UPR, I UG-, W SdTe Ud fauoH R faar s aifgul

What will the farmer get best price for?/ﬁv_\‘l'ﬁ"f P fFaeT Jarayq e frermr?
1. Their farms/\’ritlﬁ Wdl &1

2. Their cattle/&rlﬁ HARM} &7

3. Their produce/&rcl'rﬁ 3US] bl

4. Their homes/Gltler HPHMI BT

Correct Answer :-

e Their produce/GN:ﬁ US BT

5) DIRECTIONS: Read the passage and answer the questions that follow./ f321: fRaferfaa e
P UFYED YgH? ITF -4 &3 T sglawadt wxal & w8t fave &1 9971 F9|

Our Prime Minister's announcement declared a Rural Development Programme called PURA-
Providing Urban Amenities in Rural Areas. The programme involves identification of rural cluster
with growth potentials and creating four different types of connectivity-physical connectivity in
the form of Roads, transportation and power connectivity; electronic connectivity in the form of



reliable telecom internet and information technology services. Knowledge connectivity in the
form of good educational and training institutions and market connectivity that would enable
development of the nation, farmers and others to get the best price for their produce. Out of
6lakh villages in the country about 50,000 PURA complexes would emerge and this would enable
development of the nation through economic connectivity of the villages. Each university would
work towards this end in their region and come up with the model appropriate to the state. They
should consider the type of farming to be chosen in the area of cultivation, water management,
food production and marketing./

AR UYTHA = T (PURA - WarsfET s gfafdter 571 &va uivarsr arf amdfor &= § et giaursi
P yerft) S TH I faepTg STdeH @1 givon @1 81 39 Friwd # i o grirasei ara ymfior
&= 3t vga &1 Il 3R 37 IR A Yo R Bt pfeefadt § swf, 3 | - aswt, uivasw v fagaa
Ffaefadt & wu A Hifds sAfeead); fQyig efteTa geve vd gamr menfiet Jaret & Fu d

aﬁ%ﬁﬂw@ﬁf&m@uﬁrwwﬁ%wﬁmaﬁw 3R IR FAfaefad,
fSrerdl g o1 fawre g1, fari Td o= AT 1 Ut U &1 wdtad Hed e <1 & 6 @ ial A
| THIT 50,000 TXT FHIAATT S Sl ial Y i HrAfFefadt F AT Y T fFHma $81 T
fayfemea era=- amﬁaaﬁwmnﬁmmaﬁ?ma?mmmmﬁnwmla%w
F &7 ° g1 oM a1 Y & YR, SId Ya=U-, W SdTe Ud faquH W faar s afgul

How will the nation develop?/3Tg &1 fd®T 4 ghm?

1. Through farmer’s connectivitnyFﬁ DI Ffdeidel & SIRT
2. Through economic connectivity/Gﬂ% FAfefadt & oIkT
3. Through people’s connectivity/@RT &I HfGeide] & SIRT

4. None of the above/STRIad & § I3 Tal

Correct Answer :-

« Through economic connectivity/3Mfiie Hfdefad & wIRT

6) DIRECTIONS: Read the passage and answer the questions that follow./ f3r: fRaferfaa e
B AFYAP UgH IqP A &0 T ggfamedt uzHl | 6t fawey &1 99 $ |

Our Prime Minister’'s announcement declared a Rural Development Programme called PURA-
Providing Urban Amenities in Rural Areas. The programme involves identification of rural cluster
with growth potentials and creating four different types of connectivity-physical connectivity in
the form of Roads, transportation and power connectivity; electronic connectivity in the form of
reliable telecom internet and information technology services. Knowledge connectivity in the
form of good educational and training institutions and market connectivity that would enable
development of the nation, farmers and others to get the best price for their produce. Out of
6lakh villages in the country about 50,000 PURA complexes would emerge and this would enable
development of the nation through economic connectivity of the villages. Each university would
work towards this end in their region and come up with the model appropriate to the state. They
should consider the type of farming to be chosen in the area of cultivation, water management,
food production and marketing./

AR TUTHAT 3 T (PURA - WarsfET e efifardier 31 o eivars arfy arftor &1 & wredt gfaenai
3t Yerailt) ATHS T U et HTdHH Ft Tiven B 31 59 Iy | gf BT Irurane ara undtor
&= 3t uga= &1 I 3R 37 IR A Yo R Bt pfeefadt § swf, 3 7 - aswt, uivasw v fagaa
FHfFefId & T F Hifae sfaefad); fayata efteTa gexae td gam e Jarsi & v d
ﬁﬁﬁﬁaﬁ%ﬁala@ﬁmmuﬁrwwﬁ%wﬁmﬁ%ﬁa IR IR FAfaefad,
fSrerdl g o1 fare eRm, fart T o AT 1 Ut SUS &1 wdiad Hed o1 &1 & 6 @ il A
| AT 50,000 TXT HIecrad U St Wial $t e sfaefadt & wve g &1 faw w31 &



fayfaemaa srm-3r & A 39 foxm # w1 & 3R IS0 & AR IUYSd Hisd dUR 1M 37 Y
F &7 U g 9F 918 I & UPR, 5e Ya=M, Wl Idie Td fauorq W faar &= gl

What should university consider?/ﬁ%{ﬁ@ﬁﬁ &1 fHa W faR s HTI%'E?
1. Type of farming@iﬁ Pl YPR
2. Water management/sicd U=

3. Food production/dTe] 3dig
4. All of the above/STad Tt

Correct Answer :-

o All of the above/thgTﬁ ot

7) DIRECTIONS: Read the passage and answer the questions that follow./ f321: fRaferfaa weiw
P AFYES UgH 39F -1 3 T4 sgfamadt w=Ai § Ogt fdwew &1 999 3|

The National Literacy Mission (NLM) defines literacy as acquiring the skill of reading, writing and
arithmetic and the ability to apply them to one’s day- to- day life. The goal of the NLM goes
beyond the simple achievement of self reliance in literacy and numeracy of functional literacy.
The acquisition of functional literacy results in empowerment and improvement in quality of life.
Literacy is integrated with general education which includes knowledge of basic features of
constitution of India, promotion of national integration and deepening of the cultural
background. The participants are encouraged to learn about health and family planning,
importance of conservation of environment, relevance of science and scientific temper for
shaping the future. Functionality is improvement of vocational skill for non productive use of
time. And, also to supplement one’s income through village industries. Awareness is a significant
element of learning. It aims at making the learners capable of shaping their own future through
interlinking of learning, reflection and concrete action. These can also be attained through the
education system that integrates teaching, research and extension./

PTA HI&RET FiR (NLM) H18RdT oY e, forem Td Sia1iora & i &t offofd o 3R o ¢fes
Siaq ® SHT UGN 1 B Al & 7Y A RIS HIar 81 NLM BT 989 J1&Rar A sefRar v
PTATHAP IRl B FBATHSD GRYAT B YT B A A Pl 3N g 1PTaTAP HIRdT b 3ol I
TRIfRIHRT 3R Sia uraT § GUR TR giaT 8 | F1&Rdr & 9 fR1em & Ay gifed fear mar g
R wRa & 3w oY snuryg faRivang, e whe o gerar U Aipiod ggyfi 31 iR e
T T &1 afaHTREY @ WrRa vd aRaR e, wafaRor IRev & Agd, T Bt STeR 3 |
fag wd AR 9 3 yliear & TR | SFA-WRen B Wt fear sirar g srafdrsar 1 3idf 8
I & SJIed ITINT & T saraaiie SR & GUR | 3R A1y &, U I & A1 J - 3
H1 gl ot [SIRTe @, Sftrr (k) 1 e Aeayul gew € 1us Ry #) siftrm, e, v a1
Pt B U W SieA & WY ST Hias W e | WeH 9911 W aférd 81 578 1T, g8~ U
foaR &) TAfrd H3 arelt e yorrelt & wrerw § o wred fHaT o 9o 31

NLM defines literacy as skill of :/ NLM 1&Rdl B1 F PINE & U F gRUIfa Hear
|

1. Reading/Ye-l
2. Writing/eRa
3. Arithmetic/3{eTOTd



4, All of the above/B'CRiTﬁ it

Correct Answer :-

« All of the above/3udad Tt

8) DIRECTIONS: Read the passage and answer the questions that follow./ 3= Fufafea mei
P AFYED UgHR 39& -1 33 T sgfamadt w=al # Ot fowew &1 997 331

The National Literacy Mission (NLM) defines literacy as acquiring the skill of reading, writing and
arithmetic and the ability to apply them to one’s day- to- day life. The goal of the NLM goes
beyond the simple achievement of self reliance in literacy and numeracy of functional literacy.
The acquisition of functional literacy results in empowerment and improvement in quality of life.
Literacy is integrated with general education which includes knowledge of basic features of
constitution of India, promotion of national integration and deepening of the cultural
background. The participants are encouraged to learn about health and family planning,
importance of conservation of environment, relevance of science and scientific temper for
shaping the future. Functionality is improvement of vocational skill for non productive use of
time. And, also to supplement one’s income through village industries. Awareness is a significant
element of learning. It aims at making the learners capable of shaping their own future through
interlinking of learning, reflection and concrete action. These can also be attained through the
education system that integrates teaching, research and extension./

APTA HI&RET Fi=E (NLM) H1ERdT 91 e, forem Td Sia1iord & iR &t offold He iR o ¢fes
S # IART TN B34 1 adT S U & GRYTIT $Id1 81 NLM BT 789 J1eRdl A STeAf-1HRdr ua
PHTHS AR $I TEITHS THGAT DI YT B U A BBl 3T ¢ IPTATHS ATeRaT & 36 o
TRIfRIHROT 3R Sia Iuran # GUR TR giaT 8 | F1&Rdl & 9 fRiem & 9y gifed fear mar g
fored WRa & \f3u 91 snyRyg fadivany, Iy §@HA B eraT auT Wivpfae gEYH ST 3R TewT
AT i &1 afaunRra &Y W@y ud uRRar e, afeor WRevr F aed, Hids @) SR 3R |
fagr ve Ao A9 ot uRifiea $ IR § SFA-HReA @ Wt fear s g eratasar a1 o @
I F SJIed ITANT & T sara e Sz & gUR| 3R A1y &, T I & A1 A o 3
o1 wrgel W ISmTeEdr, siftrm (e &1 v gyl gew @ 1ag Rigniiat #1 siftem, e, wd ol
FAT DI AT W SeA & SNT AT HiaST T4 T | T&H I W Aled 81 578 SIATU, Ja~T T
fawar &) waferd $37 arelt Rrem yomeft & wreaw F o ure far o wwdr g1

Functional literacy results in:/ FTHD TGl | - ETRWT ﬁm/@?ﬁ %I
1. Quantity of life/ NICEKIRIE

2. Quality of Iife/\_rﬂa_rf 3| RILEKI

3. Improvement of life/Sfiae d FuUR

4. Increase of life/Sfiad ¥ gfa

Correct Answer :-

« Quality of life/Sia= 1 T[ura

9) DIRECTIONS: Read the passage and answer the questions that follow./ fd=r: frafafeEa e
B AFYAP TgH IqP A &0 T ggfamedt uzAl | W6t fawey &1 99 $|



The National Literacy Mission (NLM) defines literacy as acquiring the skill of reading, writing and
arithmetic and the ability to apply them to one’s day- to- day life. The goal of the NLM goes
beyond the simple achievement of self reliance in literacy and numeracy of functional literacy.
The acquisition of functional literacy results in empowerment and improvement in quality of life.
Literacy is integrated with general education which includes knowledge of basic features of
constitution of India, promotion of national integration and deepening of the cultural
background. The participants are encouraged to learn about health and family planning,
importance of conservation of environment, relevance of science and scientific temper for
shaping the future. Functionality is improvement of vocational skill for non productive use of
time. And, also to supplement one’s income through village industries. Awareness is a significant
element of learning. It aims at making the learners capable of shaping their own future through
interlinking of learning, reflection and concrete action. These can also be attained through the
education system that integrates teaching, research and extension./

APTA HI&RET Fi= (NLM) H1&RdT oY e, forem Td Sia1iora & iR &t offofd o iR o ¢fes
Siaq ® SHT UGN 1 B gl & 7Y A RIS HIar 81 NLM BT 980 J1&Rar A sefRar v
PTATHAP IRl B FBATHSD GRYAT B YT B A A Pl 3N g 1PTaIAP HIRdT b 3ol I
TRIfRIHRT 3R Sia uraT § GUR TR giaT 8 | F1&Rdr & 9 fRie & Ay gafed fear mar g
R wRa & 3y 3t snuRyg faivang, e whe o gerar aur Aipioe ggyfi 31 iR e
T T &1 afaHTREY @ WrRa vd uRaR e, wafaRor IRev & Agd, T Bl PR 3 |
fag wd A 9 31 yliear F TR | SFA-WRes B Wt fear sirar g Israfdrsar &1 sidf 8
I F SJIed ST & T sara e SR & gUR| 3R A1y &, T I & A1 JF o 3
H1 gl ot [SIRTe @, Sftrr (WRaA) @1 e Aeayul gew © 1us Ry +) siftrm, e, v st
Pt B MUY W SieA & WY ST Hias W e | WeH 9911 W férd 81 578 1T, 9= U
foaR &) TAfrd H3 arelt e yorrelt & wrerw § o wred fHaT o Hoar g1

Basic feature of constitution of India is to deepen the:/ YRd & WAYUT BT TURYF fa=war
DI 3R TE BT G

1. Cultural background/IR& fdd JEYA
2. Social background/amTSTe gUEH

3. Traditional background/JR™R® gEHEH
4. Historical background/tfdgiRics ggy

Correct Answer :-

« Cultural background/IRpfdd JEYfH

10) DIRECTIONS: Read the passage and answer the questions that follow./ 3= Fafafea
TR 1 WHYAP UgH: 9P A fed T ggfawed! ux-l o 9l faweq &1 991 H31

The National Literacy Mission (NLM) defines literacy as acquiring the skill of reading, writing and
arithmetic and the ability to apply them to one’s day- to- day life. The goal of the NLM goes
beyond the simple achievement of self reliance in literacy and numeracy of functional literacy.
The acquisition of functional literacy results in empowerment and improvement in quality of life.
Literacy is integrated with general education which includes knowledge of basic features of
constitution of India, promotion of national integration and deepening of the cultural
background. The participants are encouraged to learn about health and family planning,
importance of conservation of environment, relevance of science and scientific temper for
shaping the future. Functionality is improvement of vocational skill for non productive use of
time. And, also to supplement one’s income through village industries. Awareness is a significant
element of learning. It aims at making the learners capable of shaping their own future through



interlinking of learning, reflection and concrete action. These can also be attained through the
education system that integrates teaching, research and extension./

P HI&RET Fi=E (NLM) H1&RdT oY e, firem Td Siaiora & i &t offofd o iR o ¢fes
Siaq ® SHT UGN 31 B gl & 7Y A RIS HIar 81 NLM BT 989 J1eRar # sefRar v
PIATHAP HI&RAT B FBATHSD GRYAT B YT B A A Pl M g 1PTaIAP HIRdT b 3ol I
TRIfRIHRT 3R Sia urar § GUR STRIA giaT 8 | F1&Rar & 9 fRie & Ay gifed fear mar g
R WRa & 3w oY snuryg fRivang, e whe o gerar aur Aipiod ggyfi 31 iR e
T T &1 afaHTREY @ WrRa vd uiaR e, wafaRor IRev & Agd, Hidw Bt PR 3 |
faa wd Amfee 9 3 yRiear & TR & SFA-WRen B Wt fear sirar g srafarsar &1 3idf 8
I & SJIed ST & T saraaie SR & GUR| 3R A1y &, T IT & e F - 3
H1 gl ot [SIRTe @, Sftrr (WRaA) 1 e Aeayul gew € 1us Ry #) siftrm, e, v o1
Pt D1 MUY W SieA & WNT ST Hias W e | WeH 9911 W Aférd 81 578 ST, g8~ U
foaR &) TAfrd H3 arelt e yorrelt & wrerw | of wred fHaT o 9o g1

The participants of NLM are encouraged to learn about:/NLM & Ufauifiray &t FIRH
SFA-RE &1 Wearied far s 31

1. Family planning/aRaR FaeH

2. Conservation of environment/q?ﬂElTUT TREJT
3. Relevance of science/fd3 & URiRTawr

4, All of the above/B'CIﬁHH it

Correct Answer :-

o All of the above/BtIgTﬁ ot

11) DIRECTIONS: Read the passage and answer the questions that follow./ fd=r: fAufefaa
TR B! AP Ugdh 9P 1 G T sgfawedt vl & Ogl fawey &1 993 &3¢

The National Literacy Mission (NLM) defines literacy as acquiring the skill of reading, writing and
arithmetic and the ability to apply them to one’s day- to- day life. The goal of the NLM goes
beyond the simple achievement of self reliance in literacy and numeracy of functional literacy.
The acquisition of functional literacy results in empowerment and improvement in quality of life.
Literacy is integrated with general education which includes knowledge of basic features of
constitution of India, promotion of national integration and deepening of the cultural
background. The participants are encouraged to learn about health and family planning,
importance of conservation of environment, relevance of science and scientific temper for
shaping the future. Functionality is improvement of vocational skill for non productive use of
time. And, also to supplement one’s income through village industries. Awareness is a significant
element of learning. It aims at making the learners capable of shaping their own future through
interlinking of learning, reflection and concrete action. These can also be attained through the
education system that integrates teaching, research and extension./

P HI&RET FiR (NLM) H18RdT Y e, forem Td Siaiora & i &t offofd d 3R o ¢fes
ST ® SHT UGN 31 B Al & 7Y A RIS Har 81 NLM BT 980 J1eRar A srefaRar v
PTATHAP IRl B FBATHSD GRYAT B YT B A A Pl M g IPTaIeAP IRl b el I
TRIfRIHRT 3R Sia uraT § GUR STRIA giaT 8 | F1&Rdr & 9 fRiem & Ay gafed fear mar g
Ror YR & WU 9 smuRayd faivany, It SAe B geraT auT Wipla® gBYf B SR e
T T &1 afaHTRET @ WrRa vd uiaR e, wafaRor IRev & Agd, T Bt PR 3 |
fag= v iAo 9 # uRifTEar & IR # SFA-WEA & Nirfed forar sian 8 ieraiaed &1 o 8
I & SAJIeP ITINT & T saaaie SR & GUR | 3R A1y &, T IT & A1 - 3



1 gl oft | Sw T, SiftRTH (EA) &1 TP Teayul ew g 1ag Rienfat &t siftrm, o=, wd sl
PTal P MUY A She & ST UAT HiTST T g ® Ferd T4 W Aferd 31 5= ST, ST T
fawaR &) wfrd $39 arel Rrem yomeft & wrerw § o ure far o 9o g1

Awareness is a significant element of: /SIR®HAI _~ HI TP HEE‘{UT Ycdh %I
1. Teaching/3&Tq+q

2. Communicating/IdR

3. Learning/3ffRT (IRaA)

4. Resea rch/Qﬁ‘EI

Correct Answer :-

« Learning/31feRT (Ra=)

12) DIRECTIONS: Read the passage and answer the questions that follow./ 3= fufafea
TR 1 AWHYAP UgH: IS9P A &8 T ggfawed! uxl o 98 faweq &1 797 H31

The National Literacy Mission (NLM) defines literacy as acquiring the skill of reading, writing and
arithmetic and the ability to apply them to one’s day- to- day life. The goal of the NLM goes
beyond the simple achievement of self reliance in literacy and numeracy of functional literacy.
The acquisition of functional literacy results in empowerment and improvement in quality of life.
Literacy is integrated with general education which includes knowledge of basic features of
constitution of India, promotion of national integration and deepening of the cultural
background. The participants are encouraged to learn about health and family planning,
importance of conservation of environment, relevance of science and scientific temper for
shaping the future. Functionality is improvement of vocational skill for non productive use of
time. And, also to supplement one’s income through village industries. Awareness is a significant
element of learning. It aims at making the learners capable of shaping their own future through
interlinking of learning, reflection and concrete action. These can also be attained through the
education system that integrates teaching, research and extension./

APTA HIgRET Fi=E (NLM) H1ERdT S e, firem Td Sia1iora & oiera &t offofd He 3R o ¢fes
S # ITRT TN B3 I agdT & U § RUIIYT HIa1 81 NLM BT 969 J1eRar § refvRar o
PP J1RAT B HRITHD TRY] B YT B AT G el M g [P TS &Rl & 36t I
TRIfRIHRT 3R Sia uraT # GUR TR giaT 8 | F1&Rdr & 9 Rie & 91y gafed fear mar g
ford wRa & AU $1 snyRyg fadivan, Iy §He B gerar auT Wiepiae gEYA ST 3R TewT
T WA €1 afauRray #) wara vd ufvar e, vataror GRevr & ged, Jisy & smeR 1 |
fag= ua iAo 9 & URiRear & IR & SFA-WEq & Niried foear siran g 1eraiaed o1 o &
Y & SIed ST & fIT saraeiie Siwra § guR| 3R A1y &, U1 I & J1edd | St
o1 grgut it S, it () +1 P Aeayut ged ¢ 1ag Rienfiay #) siftemw, e, wd ol
FTAT DI AT W SeA & WNT AT Ui T gt | WeH 99111 W Afed 81 578 ST, 3ga~T U
foaR &) TAfPd H3 arelt e yorreht & wrerw | o ured fHaT s 9o g1

Education system integrates:/ ﬁT&-IT YUt . ) ) JHH B %I
1. Teaching/3Tq+q

2. Research/Qﬁ‘EI

3. Extension/ﬁﬁﬁ

4, All of the above/B'CPjHH it



Correct Answer :-

« Al of the above/3udad T+

Topic:- Grad_Child Care and Education

1) Which are the main source of AIDS:/ TS &1 YT TWid P 4T &
1. Prostitution/ d=aTgfd

2. Saliva/ @R

3. Cough/ ECIR:]

4. None of these/3TH I P15 g

Correct Answer :-

« Prostitution/ axaIgld

2) A Mentally retarded child IQ is less than ./ RS ¥ U I g st
ot gis-afsu A HH gl @

1. 88
2.85
3. 86

4.84

Correct Answer :-

3) What is important factor in social development:/ ST fa®T &1 vq@ da
T3

1. Heredity/d=IThH

2. Gender/ﬁ'iTr

3. Environment/dIdraxul

4. Heredity & Environment/d=ITIeH 3R TdTa=ul

Correct Answer :-

e Environment/dTdrdul

4) First Develop teeth is:/ YYHAR faofid gid &9 91 8d1 8:



1. Milk Teeth/gY & &id

2. Permanent teeth/ R afd
3. Occlusion /a~d 3dYRU]

4. All of the above/IURIdd Tt

Correct Answer :-

« Milk Teeth/gy & gid

5) Among these which are aims of special education:/ o # ¥ 1 fo=iw e

G‘TIG%W%

1. Help in adjustment/mﬁl:[ﬁm

2. Maximum development of ability/?ZﬁTqﬁTW 3fHdr famr
3. Economic Independence/ 3 Tadad

4. All of the above/IWRiad gHt

Correct Answer :-

« All of the above/StRIad Ji

6) Pulse rate in new born is:/FaSTd $1 ATS! Tfd:
1. 120 per minute/lzoqﬁlﬁlﬁ‘c’

2. 125 per minute/lZSDﬁlﬁﬁE

3. 130 per minute/130 Ufd ffe

4. 135 per minute/135qﬁlﬁlﬁ’c’

Correct Answer :-

e 120 per minute/lzoqﬁlﬁlﬁ‘c’

7) One ounce milk give canries/EEFGﬁWQT‘EIﬁ Hﬁmﬁ?ﬁ%-
1. 30-40 Calories/30-40 $aR!

2. 35-45 Calories/35-45 HaRl

3. 18-20 Calories/18-20 &aRl

4. 37-50 Calories/37-50 HaR!

Correct Answer :-

. 18-20 Calories/18-20 HaRt



8) Which of the following are the areas of human development is:/ fada

S ATa faera o1 87 §:
1. Physical/‘\’IT\PrR’E

2. Social/ THTIS

3. Cognitive/ IIMTHD

4. Physical, Social, Cognitive/ IRIR®, IHIIN®, AFHTHD

Correct Answer :-

« Physical, Social, Cognitive/ IRIR®, TG, TIAHTHD

9) National AIDS Control Programme (NACP) was started in year/
IS TgH frizvr srdwH (NACP) o adf o 3= fapar o

1. 1988
2.1994
3.1987
4, 1992

Correct Answer :-

« 1987

10) Brale Lipi is related to:/S@fafy forad Iwifid g
1. Blind child/3{¥) STcieh

2. Speech handicapped/aTuil fa&waiT aTa®d

3. Mentally Retarded child/ATHHG dTcd

4. None of these/'ﬁﬁ?{aﬂgqﬁ

Correct Answer :-

« Blind child/ 39 9Td®

11) child Infancy is called as:/ Q@RI & ITAP B! T PEd &
1. Neonate/ Hﬁﬁlﬁfﬁ?{[

2. Zygote/ gl
3. Babyhood/ ddud



4. Embryo/ YUI
Correct Answer :-

« Neonate/ =TaqiTd fIg]

12) When does UNICEF Programme for street children started: / q:—ﬂﬁmw
ITERT T & o Hrdepy H URY gai:

1. 1992-93 Year
2. 1994-95 Year
3.1993-94 Year
4. 1995-96 Year

Correct Answer :-

e 1992-93 Year

13) Pre school education is related to: /e gd Rrem frad weafia 2:
1. Informal/&Fﬁ'q?lTW

2. FormaI/GﬁtI?lTW

3. Informal & FormaI/GFﬁCI%lTW qUT SFT=TRG

4. None of these/3TH ¥ &5 7ol

Correct Answer :-

« Informal/ 3RS

14) Montessori method is related to:/ ATUCHI faf¥ fpaa Tefid 2-

1. Education of mentally retarded children/ RIS ey aTds &1 e

2. Education of genius children/ BfaHTa STad! &1 e
3. Education of physically handicapped children/RIRIRe® & o sTeid 1 fRIam
4. All of the above/IWRiad Tt

Correct Answer :-

« Education of mentally retarded children/ A& Y aTc® &t e

15) What is Right Stage of Prenatal Development:/ T®i %] fawra &1 98t w0
CulkS



1. Period of Embryo, Period of Ovum/ fﬁ'ﬂ's’&ﬁ?ﬂ, fora sraw
2. Period of fetus, Period of Embryo/ TR 1], fIus sraw
3. Period of Ovum, Period of Embryo/ fotg a1, fUUs sawi
4. None of these/ ?ﬁﬁ@f&ﬁ'&‘ﬁ

Correct Answer :-

« Period of Ovum, Period of Embryo/ &% 3/awi1, fUus sraw

16) Which quality is related to creativity:/ ®I- TT 0T YoATHS T A T 8

1. Introvert/ g
2. Extrovert/ Eﬂ%ﬁ@

3. Thinking/ 9=
4. All of the above/ SWRIad Tt

Correct Answer :-

« Thinking/ qra

17) Special education is related to:/ -9 # ¥ # fafy fRiem A wfdrfea 2
1. Special teacher/fafRy Renfag

2. Special Reading material/fafRmy urew el

3. Special activity/faf1g foran fafe

4. All of the above/IWRiad T

Correct Answer :-

« All of the above/IWRIdd g4t

18) Which is not the law of learning?/ g # ¥ #i9 WA &1 fFraw 781 8
1. Law of readiness/d@Rdl &1 fAgq

2. Law of exercise /&IWWF—NI[

3. Law of effect/UHTd &1 fAaH

4. Law of mendal/ﬁmmﬁﬂ'ﬂ[

Correct Answer :-

e Law of mendal/ﬁmmﬁﬂ'ﬂ[



19) Which is widely spread scheme for child & Women:/'cIT?rQTi'qf%?lT%'g' X [UES]
foga g A R

1. Integrated child development services/THIGd ST [AHTH IaT ISl

2. National Immunization Programmme/TI'Qﬁ'Cr PTH U HRIGH
3. National Rural Health Mission/IT5¢ 1T WA R
4. None of these/gﬂﬁ@faﬁg:rﬁ

Correct Answer :-

« Integrated child development services/TH{&d ST [AHTH JdT IS

20) Various kind of physically handicapped children are / RS Sredn
A g IR UpR & areie, ok

1. Blind children/ 3/ sTeids

2. Hard Hearing chiIdren/W{HﬁTﬂﬁW
3. Crippled children/ 34 §Tcih

4. All of the above/JWRIed T+

Correct Answer :-

« All of the above/ECIﬁTﬁ Tt

21) Which is important part of human teeth?/ fS9 & ¥ &9 9T 4194 &id &1 4@
YT B2

1. Enamel/ THd
2. Keratin/ ffeq
3. Tolin/ cifed

4. Dentin/ S

Correct Answer :-

. Dentin/ 3o

22) According to Hurlock human Development has now many stages:/ AP

F IR A4 fapTg o} fora-t srawumd gardt 2:
1. 11

2.6



3.10
4.8

Correct Answer :-

23) What is important carrier of Heredity:/ WWH@WW@W%
1. Genes/ Wi

2. Cell/ SIRAebT

3. Muscles/ 3

4. Ovum/3us]

Correct Answer :-

« Genes/ ST

24) NACO is related to which disease:/ FT®! T Ta¢ fFa AT A &:
1. AIDS/USH

2. Cancer/W

3. Typhoid/d0fdd

4. Beri-Beri/a8-at

Correct Answer :-

. AIDS/USH

25) Perception, abstraction, transfer are characteristics of /

1. Cognitive/ IJMIH®
2. Creativity/ Jol-THP
3. Aesthetic/ @E’dﬂﬁﬂ

4. Emotions/ TaT

Correct Answer :-

« Cognitive/ IJMTHP



Which of the following is not the stage of language development:/ faada
DI UTYT fAHrT $t rawT 781 8:

1. Preparation of speech/ Sid &1 dart
2. Sentence use/dTdd TN

3. Correct pronunciation/Y[& SR
4. Socialization/JHTSHARUT

Correct Answer :-

« Socialization/JHTSIHUT

27) ELISA is a type of: /ST UG USRBI____ ©
1. Typhoid Test/dufe® X

2. Cancer Test/HWR T

3. Fever Test/SdR ¢

4. AIDS Test/TgH ¢

Correct Answer :-

« AIDS Test/TgH ¢

28) What is last stage of language development?/HTHT fa®TH &I SRERT rawAT
T 3?

1. Crying/ shg-
2. Vocabulary/Rlsq HUSR
3. Sentence formation/ CIESREEE]

4. Pronunciation/ 3Rl

Correct Answer :-
« Sentence formation/ areg At

29) Which children are called exceptional children:/ o aTa! 3 fafree T
Pl oTdT &

1. Genius or Gifted children/UfdHTa dTd®

2. Physically Handicapped children/IRIR& 3f&rdal | gad dlclh
3. Mentally Retarded children/aHR® ¥0 ¥ A% dddh
4. All of the above/IWRigd gHt



Correct Answer :-

o All of the above/B'CIﬁ?ﬁ Tt

30) Method use for educating hard hearing children is:/ &8 - aId §10F &
o Sy ot € Rieror fafy o= 3t 3

1. Manual Method/g% faf¥
2. Sign language method/fag HTaT fafdr
3. Aural Method/4aul g+ fafg

4. All of the above/IWRigd gHt

Correct Answer :-

« All of the above/IWRIad I+

31) Crying is related to: / 31 fFad Tefia &
1. Language /Y14l

2. Social/ IS

3. Emotion / HaidA®

4. Motor / TTATHD

Correct Answer :-
« Language /HIYT

32) Establishment of Creches is in which year:/ mmavaﬁwmmaﬁﬁgs‘
A

1. 1982
2. 1986
3.1977

4. 1989

Correct Answer :-

« 1977

33) Change in development is? / fd®ra # uf¥ad= gd 82

c

1. Qualitative change/ TUTd® GRddH




2. Quantative change/ HATh H XAATHD
3. Creative change/ J&TH® URdcH

4. None of these/ gﬂﬁﬁaﬂéﬂ"{ﬁ

Correct Answer :-

. Qualitative change/ IO GRad-

34) Necessary factor for cognitive development is:/ Jo-IIH® [AHT 8 IS

T‘I'@[ia—cﬂ %:

1. Sentiment/ddcd

2. Meditation/ ferd=

3. Logical/ GIEEI

4. All of the above/ JURIE GHI

Correct Answer :-

« All of the above/ SWRIad gt

35) Chromosomes are related to:/ UG fHad Tafiea gid 8-
1. Respiration/ Radd

2. Reproduction/ US4

3. Transmission of Heredity Character/ 3difRidb 0N &1 RAARUI

4. Digestion/ UTdd

Correct Answer :-

. Transmission of Heredity Character/ 3qifRIe Ul &1 RIFRUT

36) AIMS of PRE school education is:/ d Wrdfire fRuem &1 w1 3539 &:
1. Healthy environment/ ¥a¥ qrdrarul

2. Aesthetic sense/ Td &l

3. Intellectual curiosity/wm

4. All of the above/ SWRIad It

Correct Answer :-

o All of the above/ IWRIFd gt



37) The ratio of new born child face & head proportion is:/ Wﬁl‘-‘{[%aﬁ'
ay1 RR &) Marg A fopaan srgura giaT §:

1.1:8
2.1:9
3.1:10

4.1:11

Correct Answer :-

« 1:8

38) Among these which is not classification of exceptional child: / fadas=
fafy s &1 Tffeur a8 8:

1. Intellectual actual/sife® fagem
2. Motor/TH® faaeH
3. Sensory Deviance/dad! fdae

4. Child welfare scheme/sTd &edT0T IR

Correct Answer :-

o Child welfare scheme/aTF[av_cQTUTW

39) Which are the activities of WHO:/ /8 & & WHO &I &1 3t wifafaftmt
1. Environmental health/qﬂh@ﬂﬂw

2. Development of Men Power/WQTﬁ[WﬁW

3. Prevention and control of Specific disease/fafRme I &1 Ry ©d fgzo

4. All of the above/ SWRIdd gt

Correct Answer :-

« All of the above/ IURlad g

40) Learning capacity of children in preschool is based on:/ qﬁwmﬂﬂﬁaﬁ
e Ft ermar smenfa -

1. Personal based capacity/ fFaTd Tid =T

2. Syllabus based design/ UT&IshH TR a1

3. Government based Programme/ USRI HRIHH
4. Teacher Based Capacity/ Rrere e e



Correct Answer :-

« Teacher Based Capacity/ fRi&r® s emdn

41) National handicap organization is situated at: / JPIT fa@eiT GRM Hal fRa

e
1. New Delhi/q'scﬁc_vﬁ
2. Mumbai/Hs8

3. Dehradun/éé?lg:l
4. Calcutta/®Iddmdl

Correct Answer :-

. New Delhi/73 faceht

42) What is the concept of leaning?/ Fﬂ@ﬁﬁm?ﬂl@?ﬂ%?
1. Change in emotions/ a7 A ufkgd

2. Change in feeling/ 33Yfa & afkacdH

3. Permanent change in behavior/ XagR H RT3 gikad

4. Change in Aesthetic sense/ Ticd Sy 7 gRad-

Correct Answer :-

« Permanent change in behavior/ Wﬁ@ﬂ'&cqﬁ?ﬁh

43) Need of protection is:/HI&UI B ATAGHIT F B! &:
1. For DeveIopment/ﬁW%ﬁﬁ

2. Emotional Maturity/ﬁwqﬁ%ﬁﬂ

3. For Adjustment/THrAISH & faQ

4. All of the above/JWRIed T+

Correct Answer :-

« All of the above/IWRIgd I+

44) Protection of child rights is related to:/ ITd 3fYBR] I v&T fFrad Jdfua gidt
T

1. ICDS



2. ICPS
3. NACO

4. UNICEF

Correct Answer :-
« ICPS

45) What type of emotions in children are:/ STd®! & Ja fHT UPR & gl &
1. Absent/ agcr@a

2. Permanent/ @ﬂ’st

3. Imbalanced/ 3rqferd
4. None of these/ 3TH q I3 gl

Correct Answer :-

« Imbalanced/ 3Rigferd



